
  
 

  
 PL

TM

PL | PLATES

PLATES

Issue Date: 11/07/2017



  
 
  
 

PL 463 Cedar St.  |  Fond du Lac, WI • 54935 • USA  |  1.844.663.8787  |  www.ModTruss.com



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

12” ModTrussTM Washer Plate
Part Number: MT-PL-W-12

Standard Material: A36 Low Carbon Steel

Standard Finish: 11 - Zinc Gold/Yellow

Available Finish(es): 10-12, 20-32*              *Not recommended - Gold/Yellow color aids in inspection

Size: 3” x 10.25" x 0.5” (76.20mm x 260.35mm x 12.7mm)

Weight: 3.30lbs (1.50kg)

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 2.5” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 64mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 12" ModTrussTM Series

See more at: ModTruss.com

MT-PL-W-12

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 08/29/2017



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-W-12

 
10

.2
5

26
0.

35
 

 
3.

00
76

.2
0

 

 
6.

75
17

1.
45

 

.6
9

17
.4

6

 
.5

0
12

.7
0

 

 
3.

00
76

.2
0

 

D
ES

C
RI

PT
IO

N
:

RE
LE

A
SE

D
:  

5/
13

/2
01

5
RE

V
IS

IO
N

: N
R

PA
RT

 N
U

M
BE

R:

M
T-

PL
-W

-1
2

12
" W

A
SH

ER
 P

LA
TE

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T 

[ 
] 

D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

Issue Date: 08/29/2017



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

6” ModTrussTM Washer Plate
Part Number: MT-PL-W-06

Standard Material: A36 Low Carbon Steel

Standard Finish: 11 - Zinc Gold/Yellow

Available Finish(es): 10-12, 20-32*                *Not recommended - Gold/Yellow color aids in inspection

Size: 1.75" x 4.88" x 0.31 (44.45mm x 123.95mm x 7.87mm)

Weight: 0.55lbs (0.25kg)

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 2” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |    M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 6" ModTrussTM Series

See more at: ModTruss.com

MT-PL-W-06

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 08/29/2017



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-W-06

 
4.

88
12

3.
83

 

 
3.

00
76

.2
0

 
.6

9
17

.4
6

 
.3

1
7.

94
 

 
1.

75
44

.4
5

 

D
ES

C
RI

PT
IO

N
:

RE
LE

A
SE

D
:  

5/
13

/2
01

5
RE

V
IS

IO
N

: N
R

PA
RT

 N
U

M
BE

R:

M
T-

PL
-W

-0
6

6"
 W

A
SH

ER
 P

LA
TE

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

[.
80

]
BR

A
C

KE
T 

[ 
] 

D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

Issue Date: 08/29/2017



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

12” x 24” Splice Plate
Part Number: MT-PL-S-12-24

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): 10-12, 20-32

Size: 11.50" x 22.50" x 0.25” (292.10mm x 571.50mm x 6.35mm)

Weight: 11.85lbs (5.38kg)

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 2” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 12" ModTrussTM Series  |  MT-PL-W-12

See more at: ModTruss.com

MT-PL-S-12-24

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 08/29/2017



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-S-12-24

 
.7

5
19

.0
5

 
 

3.
00

76
.2

0
 

.6
9

17
.4

6

 
22

.5
0

57
1.

50
 

 
1.

25
31

.7
5

 

 
3.

00
76

.2
0

 

6.
75

17
1.

45

 
.2

5
6.

35
 

 
11

.5
0

29
2.

10
 

D
ES

C
RI

PT
IO

N
:

RE
V

IS
IO

N
: N

R

PA
RT

 N
U

M
BE

R:

M
T-

PL
-S

-1
2-

24

SP
LI

C
E 

PL
A

TE
, 1

2"
 x

 2
4"

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ 

] 
D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

8/
14

/2
01

7

Issue Date: 08/29/2017



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

6” x 12” Splice Plate
Part Number: MT-PL-S-06-12

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): 10-12, 20-32

Size: 11.75" x 5.75" x 0.25” (298.45mm x 146.05mm x 6.35mm)

Weight: 3.10lbs (1.41kg)

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 2” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 6" ModTrussTM Series  |  MT-PL-W-06

See more at: ModTruss.com

MT-PL-S-06-12

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 08/29/2017



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-S-06-12

 
29

8.
45

11
.7

5
 

 
34

.9
3

1.
38

 
 

76
.2

3.
00

 

 
34

.9
3

1.
38

 

 
76

.2
3.

00
 

.6
9

17
.4

6
 T

H
R

U

12
.7

R
.5

0

76
.0

1
2.

99
 

14
6.

05
5.

75
 

 
6.

35 .2
5

 

D
ES

C
RI

PT
IO

N
:

RE
V

IS
IO

N
: N

R

PA
RT

 N
U

M
BE

R:

M
T-

PL
-S

-0
6-

12

SP
LI

C
E 

PL
A

TE
, 6

" x
 1

2"

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ 

] 
D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

8/
14

/2
01

7

Issue Date: 08/29/2017



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

12” x 24” x 90º Flat Angle Splice Plate
Part Number: MT-PL-S-12-24-90

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): 10-12, 20-32

Size: 23.5” x 23.5” x 0.25” (596.9mm x 596.9mm x 6.35mm)

Weight: 18.85lbs (8.55kg)

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 2” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 12" ModTrussTM Series  |  MT-PL-W-12

See more at: ModTruss.com

MT-PL-S-12-24-90

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 08/29/2017



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-S-12-24-90

 
59

6.
9

23
.5

0
 

 
31

.7
5

1.
25

  
76

.2
3.

00
 

 
29

2.
1

11
.5

0
 

 
30

4.
8

12
.0

0
 

 
29

2.
1

11
.5

0
 

12
.7

R
.5

0

.6
9

17
.4

6
 T

H
R

U

17
1.

45
6.

75

 
59

6.
9

23
.5

0
 

 
6.

35 .2
5

 

D
ES

C
RI

PT
IO

N
:

RE
V

IS
IO

N
: N

R

PA
RT

 N
U

M
BE

R:

M
T-

PL
-S

-1
2-

24
-9

0

SP
LI

C
E 

PL
A

TE
, 1

2"
x2

4"
x9

0°

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ 

] 
D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

8/
14

/2
01

7

Issue Date: 08/29/2017



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

12” x 12” 45º 3-Way Plate
Part Number: MT-PL-S-FLT-12-12-0024-04-24-0120-096

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): 10-12, 20-32

Size: 20.00" x 20.00" x 0.25” (508.00mm x 508.00mm x 6.35mm)

Weight: 13.30lbs (6.03kg)

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 2” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 12" ModTrussTM Series  |  MT-PL-W-12

See more at: ModTruss.com

MT-PL-S-FLT-12-12-0024-
04-24-0120-096

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Use:  Makes a 96” x 96” Frame

Issue Date: 08/29/2017



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-S-FLT-12-12-0024-
04-24-0120-096

 
29

8.
45

11
.7

5
 

 
15

8.
75

6.
25

  
15

8.
75

6.
25

 

 
29

8.
45

11
.7

5
 

 
45

7.
20

18
.0

0
 

 
30

4.
80

12
.0

0
 

 
38

.0
7

1.
50

 
 

76
.2

0
3.

00
 

 
38

.1
3

1.
50

 

 
76

.2
0

3.
00

 

17
1.

46
6.

75

 
51

2.
48

20
.1

8
 

 
6.

35 .2
5

 

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

PL
-S

-F
LT

-1
2-

12
-0

02
4-

04
-2

4-
01

20
-0

96

12
" 4

5d
eg

 S
pl

ic
e 

Pl
at

e 
fo

r 9
6"

 
Sq

ua
re

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

8/
16

/2
01

7

Issue Date: 08/29/2017



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

3” x 9” x 15” Tee Splice Plate
Part Number: MT-PL-S-FLT-0900-1500-0032-090-12-012

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): 10-12, 20-32

Size: 14.44” x 8.63” x 0.25” (366.78mm x 219.20mm x 6.35mm)

Weight: 3.55lbs (1.61kg)

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 5” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 3" ModTrussTM Series

See more at: ModTruss.com

MT-PL-S-FLT-0900-1500-
0032-090-12-012

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 08/29/2017



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

 
14

.4
4

36
6.

71
 

 
2.

81
71

.4
4

 

 
8.

63
21

9.
08

  
1.

50
38

.1
0

 

 
1.

50
38

.1
0

 

.6
9

17
.4

6
TH

RU

 
.2

5
6.

35
 

SP
LIC

E 
PL

A
TE

, 3
" X

 9
" X

 1
5"

 T
EE

M
T-

PL
-S

-F
LT

-0
90

0-
15

00
-0

03
2-

09
0-

12
-0

12
PA

RT
 N

UM
BE

R:

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T 

[ ]
 D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

MT-PL-S-FLT-0900-1500-
0032-090-12-012
Issue Date: 08/29/2017



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

3” x 12” Inner Splice Plate (w/ Bolts)
Part Number: MT-PL-S-03-12-IS

Standard Material: A36 Low Carbon Steel

Standard Finish: 10 - Zinc Clear

Available Finish(es): 10-12, 20-32

Size: 2.19” x 11.81” x .67” (55.63mm x 299.97mm x 17.02mm)

Weight: 1.85lbs (0.84kg)  |   Plate 1.85lbs + 4 Bolts .2lbs = 2.05lbs Total Weight

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 1/2”-13 x 1” Taper Head Socket Cap Screw

Recommended Tools: ModTrussTM Tool Kit 1  | 5/16 Hex Drive (Allen Wrench)

Associated Products: 3" TR ModTrussTM Series

See more at: ModTruss.com

MT-PL-S-03-12-IS

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 08/29/2017



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-S-03-12-IS

 
35

.7
2

1.
41

 
 

76
.2

0
3.

00
 

12
.7

0
R.

50
4X

 1
/2

-1
3 

W
EL

T 
N

UT

 
30

0.
04

11
.8

1
 

 
16

.8
9

.6
7

 

 
55

.5
6

2.
19

 

 
6.

35 .2
5

 

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

PL
-S

-0
3-

12
-0

4-
IS

SP
LIC

E 
PL

A
TE

, 3
" x

 1
2"

, I
N

N
ER

 
SP

LIC
E,

 4
-H

O
LE

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

8/
16

/2
01

7

Issue Date: 08/29/2017



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-E-06-06-0016-AL
Issue Date: 11/08/2017

Standard Material: 5052-H32 Aluminum

Standard Finish: 02 - No Finish

Available Finish(es): 20-32

Size: 6” x 6” x .25” (152.40mm x 152.40mm x 6.35mm)

Weight: -

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 2.5” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 64mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 6" TR ModTrussTM Series

See more at: ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

6” X 6” x 1/4” Aluminum Spacer Plate
Part Number: MT-PL-E-06-06-0016-AL



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

 
38 1.
50

 

 
38 1.
50

 
 

76 3.
00

 

 
76 3.
00

 

76 2.
99

4X
 1

1/
16

" H
O

LE
S

 
15

2
6.

00
 

 
6 .2
5 

 
15

2
6.

00
 

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

PL
-E

-0
6-

06
-0

01
6-

A
L

1/
4"

 x
 6

" x
 6

" A
LU

M
IN

UM
 S

PA
C

ER
 

PL
A

TE

11
/8

/2
01

7

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T 

[ ]
 D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

MT-PL-E-06-06-0016-AL
Issue Date: 11/08/2017



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-E-06-06-0032-AL
Issue Date: 11/08/2017

Standard Material: 5052-H32 Aluminum

Standard Finish: 02 - No Finish

Available Finish(es): 20-32

Size: 6” x 6” x .50” (152.40mm x 152.40mm x 12.70mm)

Weight: -

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 2.5” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 64mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 6" TR ModTrussTM Series

See more at: ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

6” X 6” x 1/2” Aluminum Spacer Plate
Part Number: MT-PL-E-06-06-0032-AL



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

 
38 1.
50

 

 
38 1.
50

 
 

76 3.
00

 

 
76 3.
00

 

76 2.
99

4X
 1

1/
16

" H
O

LE
S

 
15

2
6.

00
 

 
13 .5

0
 

 
15

2
6.

00
 

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

PL
-E

-0
6-

06
-0

03
2-

A
L

1/
2"

 x
 6

" x
 6

" A
LU

M
IN

UM
 S

PA
C

ER
 

PL
A

TE

11
/8

/2
01

7

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T 

[ ]
 D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

MT-PL-E-06-06-0032-AL
Issue Date: 11/08/2017



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-E-12-12-0016-AL
Issue Date: 11/08/2017

Standard Material: 5052-H32 Aluminum

Standard Finish: 02 - No Finish

Available Finish(es): 20-32

Size: 12” x 12” x .25” (304.80mm x 304.80mm x 6.35mm)

Weight: -

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 3” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 76mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1 

Associated Products: 12" TR ModTrussTM Series

See more at: ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

12” X 12” x 1/4” Aluminum Spacer Plate
Part Number: MT-PL-E-12-12-0016-AL



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

 
32 1.
25

 
 

76 3.
00

 

 
32

1.25  
76

3.00 

 
17

1
6.

75
 

 
171
6.75 

17
1 6.

75

16
X 

11
/1

6"
 H

O
LE

S

 
30

5
12

.0
0 

 
6

0.25 

 
305

12.00 

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

PL
-E

-1
2-

12
-0

01
6-

A
L

1/
4"

 x
 1

2"
 x

 1
2"

 A
LU

M
IN

UM
 

SP
A

C
ER

 P
LA

TE11
/8

/2
01

7

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T 

[ ]
 D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M

MT-PL-E-12-12-0016-AL
Issue Date: 11/08/2017



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-E-12-12-0032-AL
Issue Date: 11/08/2017

Standard Material: 5052-H32 Aluminum

Standard Finish: 02 - No Finish

Available Finish(es): 20-32

Size: 12” x 12” x .50” (304.80mm x 304.80mm x 12.70mm)

Weight: 3.75lbs (1.70kg)

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 3” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 76mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 12" TR ModTrussTM Series

See more at: ModTruss.com

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

12” X 12” x 1/2” Aluminum Spacer Plate
Part Number: MT-PL-E-12-12-0032-AL



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-E-12-12-0032-AL
Issue Date: 11/08/2017

 
32 1.
25

 
 

76 3.
00

 

 
32

1.25  
76

3.00 

 
17

1
6.

75
 

 
171
6.75 

17
1 6.

75

16
X 

11
/1

6"
 H

O
LE

S

 
30

5
12

.0
0 

 
13

0.50 

 
305

12.00 

D
ES

C
RI

PT
IO

N
:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

PL
-E

-1
2-

12
-0

03
2-

A
L

1/
2"

 x
 1

2"
 x

 1
2"

 A
LU

M
IN

UM
 

SP
A

C
ER

 P
LA

TE11
/8

/2
01

7

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
03

  [
.8

0]
BR

A
C

KE
T 

[ ]
 D

IM
EN

SI
O

N
S 

A
RE

 IN
 M

M



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

24” x 24” Base Plate
Part Number: MT-PL-B-24-24-0.25

Standard Material: A36 Low Carbon Steel

Standard Finish: 25 - Silver

Available Finish(es): 20-32

Size: 24” x 24” x .25” (609.60mm x 609.60mm x 6.35mm)

Weight: 49.7lbs (22.54kg)

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 2” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1

Associated Products: 6” ModTrussTM Series  |  12" ModTrussTM Series

See more at: ModTruss.com

MT-PL-B-24-24-0.25

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 10/11/2017



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-B-24-24-0.25

25
.4

0
R1

.0
0

 
19

.0
5

.7
5

 

 
38

.1
0

1.
50

 

 
76

.2
0

3.
00

 

 
60

9.
60

24
.0

0
 

 
60

9.
60

24
.0

0
 

 
38

.1
0

1.
50

 
 

76
.2

0
3.

00
 

64
X 

 .6
9 

 1
.0

0

76
.0

1
2.

99

 
19

.0
5

.7
5

 

 
12

.7
0

.5
0

 

 
6.

35 .2
5

 
D

ES
C

RI
PT

IO
N

:

RE
VI

SI
O

N
: N

R

PA
RT

 N
UM

BE
R:

M
T-

PL
-B

-2
4-

24
-.2

5

BA
SE

 P
LA

TE
, 2

4"
 x

 2
4"

 x
 1

/4
" 

TH
IC

KPR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

8/
24

/2
01

7

Issue Date: 10/11/2017



  
 

Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

48” x 48” Base Plate
Part Number: MT-PL-B-48-48-1

Standard Material: A36 Low Carbon Steel

Standard Finish: 95 - Enamel Satin Black

Available Finish(es): 02, 95-96

Size: 48” x 48” x 1” (1219.20mm x 1219.20mm x 25.40mm)

Weight: 630.00lbs* (285.76kg)    *Not Certified

Hole Size: 11/16" (17.46mm)

Recommended Hardware: 5/8”-11 Thread Grade 8 Bolt, 2-1/2” Long   |   5/8” SAE Zinc-Plated Washer   |   5/8”-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 64mm Long, Class 10.9 Bolt   |   M18, Class 10.9 Washer   |   M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTrussTM Tool Kit 1 

Associated Products: 6” ModTrussTM Series  |  12” ModTrussTM Series  |  MT-HW-BT-LHS-ALN-06-00-0109-134-0100 

See more at: ModTruss.com

MT-PL-B-48-48-1

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

Issue Date: 10/11/2017



Part Number:

Series: Plates

U.S. Patent No. 8,418,425 & other patents pending

TM

MT-PL-B-48-48-1

74
.6

1
2.

94
.0

0

 
30

4.
80

12
.0

0
 

 
30

4.
80

12
.0

0
 

 
12

19
.2

0
48

.0
0

 

 
152.40
6.00  

304.80
12.00  

304.80
12.00  

304.80
12.00 

 
1219.20
48.00 

38
.1

0
1.

50

 
15

2.
40

6.
00

 

 
15

2.
40

6.
00

 

17
.4

6
.6

9
 

HO
LE

S 
FO

R 
5/

8"
 B

O
LT

 
15

2.
40

6.
00

 

 
30

4.
80

12
.0

0
 

77
.7

9
3.

06
.0

0

 
76

.2
0

3.
00

 
3@

3 
= 

22
8.

60
9.

00  
38

.1
0

1.
50

 

 
38

.1
0

1.
50

 
3@

3 
= 

22
8.

60
9.

00

 
76

.2
0

3.
00

 

 .6
6 

 1
8.

50

 
25

.4
0

1.
00

 

09
/2

3/
20

15

PR
EC

IS
IO

N
 L

EV
EL

 : 
M

ED
 - 

±.
06

  [
1.

59
]

BR
A

C
KE

T 
[ ]

 D
IM

EN
SI

O
N

S 
A

RE
 IN

 M
M

BA
SE

 P
LA

TE
, 4

8"
x4

8"
x1

"

M
T-

PL
-B

-4
8-

48
-1

PA
RT

 N
UM

BE
R:

RE
VI

SI
O

N
: N

R

D
ES

C
RI

PT
IO

N
:

Issue Date: 10/11/2017


